iT

E

e

e

Z2 B XA F 2 A F

# 2017-2018 2 A 9 neyy | RAESG
WE V] EE ]
U | R R KEHOEGRT. 4 259) sy
1| B REUT: =, 2P, EH e[ ] W6 (V]
X BT (A, B, C)
5 | Hinfa. 2018 4 06 fJ 28 H (B] 3t 6 T
%
4 i Ll YE ()
i’é e 5 B [V] SME [ ]
s - - = py i 2 v
)
39y | WA | — REE

AY
(3L 8 /N, BFNE 2 73, FL 16 4)

1 B0 & p MHEMSLH € ~ N(1,4),n ~ N(2,5), W &—2n~

2. HPEFFdr & RPN 1000 /NI EIFR B A, B ZEar /N T 2000 7
g RS

3. CHIBENIAR & ¢ BN 28N FE =3,D6 =2, Nl B¢ =

. . kcosz, - <x<?Z
4. CRNESE ¢ KB EREN ¢(x) = {0 x:é%x 20N k= .
: e EE—

5. &% P(A) = 0.3, P(B|A) = 0.4, P(B|A) = 0.5, | P(B) =

6. MM o = (1,1,0), a0 = (0,1,1), a3 = (1,0,1), NWEHE 5= (4,5,3) Bam N
a1, o, 3 E/J@é I‘ié 7'j ﬁ

7. HBAT A3 Tl o

2
:07 I)_I\]J xr =
-3 x

8. CEI kT4

Brg K (RFHE) 16 B 2t

4
do

55 PR | = BRI
(Jt 8 /N, AR/ 2 4y, 3t 16 41)

1 FEAC I X AR R EE o 1 ()
(A) B KA (B) ARl (C) —Hufliit (D) KMttt

2. fEEH ST, XPEAR X FIREAR (X, -, X,,) BIBEBAS AN IERR ()
(A) SRR & (B) #EAJE n JCBEHLAZ &

3. PNAEA LR )2 ()
) RECGE R 1 KB A AT HL ] o3 A R BEATL AR B O SAE AR 2 Tk

B) KHE H U B KA B AL L[R2 Af (1 R L AR B R S (BT 1R A4S 0 A

C) HhO AR & BRI 1 KR AR BT HLIR] 53 A1 ) BT AR & ) R0 ) AR 1
)

(A
(
(
(D) H Lot R s B¢ B KB A B ST L[R]3 A (R BE B AL & AL AL, T 1R 25 20 AT

4. ST —ADAR T AL, A R4, B Rt R —24E, W=

Pk AF1 B &2 ()

(A) XF L HfF (B) H 534

(C) BEAESF 3 FH A N B RS (D) ANEX LA R TR A

5. TR f = 4% — 2ay10 + 633 XF R FRIAEESE T ()

4 -2 2 -2 4 -1 2 -1

(4) (—2 6 ) ®) (—2 3 ) (C)<-—1 6 ) (D)<"1 3 )
110

6. CHMFE A= | 1 2 0 | HAPMHEBEN =1/ =2, Waz=( )
001

(A) 2 (B) 1 (C)0 (D) —1
aq a9 as a; Gz as

7. B =TI | 260 —ay 205 —ay 205 —as | =2, W | by by by | = ()
c1 Co Cs €1 C2 C3

(A) 1 (B) —1 (C) 2 (D) —2

8. THIHEFIRAN A HE ()

(A) 3712456 (B) 36715284 (C) 654321 (D) 41253

Fom e



Bk (KEHE) A% B It 4 ] Bk (KEHE) A% B 4, )
1534y PRA | =, HESE 3. RN R € ~ N(L,4), R P(-1<{<5)
(36 /NG, RN 8 4r, 3k 48 41)
L IIEAS AR N, 0?) s REAE 16 BOFEA, SEA330TI9509 3160, 4
HEZEN 100, R Ho : p = 3140 £ WAL (a = 0.01),
VIRSCE
4 T STHENVER (€n) MBEAAEN 0 [0 | 1/3]0
1 |1/3]0 |1/3
2. WK IB AR LR 0.2 FURTLARSE, BLEERAT 100 %40k, (1) RXTF & Al WL
(1) FYI DU RS R it dr PR € 76 10 R 30 RZ IR (2) S € R (A
(2) P BBRSEER A Ao H € 72 10 ) 30 RZ I HOEE (3) Hi & A HIAHRAE

e

e

p=|

=
H

el



Bp RN CRFHE) 6 B 44 ) R R HCE) W6 B 4, 2
5. HEC R — Ik f = 22 + 23119 — 62103 + 223 — 121003 + 922 WAFRETR ZEVAN e | P9, JERAER

2]

It

f=dyi+ doy + dzy3 o

6. THEIURTHI A =

0123
1230
2301
3012

el

1.

=
H
p=i

(Ft 2 /M, 4V 10 4%, 3 20

1 WHM A B M EMSL, UEH A M B AHHEMAL.

2. AN FH R B TR LA T A R 0l E B, L FH R B 438 SRRV S5 IE S TET
) AREF LR fAL, BIAAEAERTIEFERE PRI M fE A 615

%E%A:(

PilAP:Ao

11
01

Btk —LEn] e 2 A

®4(0.5) = 0.6915
t0.01(8) = 3.355
X3.005(8) =220
X3.995<8) = 1.34

dy(1) = 0.8413
t0.01(9) = 3.250
X3.005(9) =236
X3.995(9) = 1.73

dy(2) = 0.9773

to.01(15) = 2.947
X3.005<15) =328
X%.995<15) = 4.60

dy(2.5) = 0.9938
to.01(16) = 2.921
X<2).005(16) =343
X3.995(16> =5.14

%6



iT

E

e

e




iT

E

e

e




